2. If x = /3 — V2, then the value of x3 — x 3 is:

I x=V3—-V2, @ 23 —x3FH AT &:
/] - ' = Effz
= == a) 22v3 2202
e ¢) 22v2 d) —22+3 -

z’?>
1-1—/0: —Q)—_j_

(-212)°+ 2Cag)

= —|6J3_-6J‘9__
= — 22 S—Q’

SSC CHSL 05 Jul 2019 S2



x= |2,3Js 193. Ifx = ﬂgthenfindthevalueofx(’+i6.
2 2 2 *
_ [325 6 1
. Tocaescx X x= |5 garx + — @ A AT MY |
a) 198 b) 27 ¢) 36 18
(1 )
I x+) = M’=Jp§
X
il = 5-2=2
|2 _AUsw) x>
r JB-I Az

vl = 2A7-5-18
,1}

D —



1
(a-3)3

ma——_6%a‘r(a—3)3 3)3=?

a) 27 b)18 36 d) 25

9. If @ — L — 6, then (a — 3)3 — =?




1 . 2 2 4 1
-— = 6, then find the value of (x* + 1)* + w21

X
1 2 2 4 ATT
ﬁ@x2+1_6+?,m(x O l)za»-r:m?r

T
a) 27 b) 23 Jﬂﬂ d) 51
(a)s L

(X 14)

2x
a-g

D ]



2 2
196. If a® + b* = 5ab, the value ofa— b—is

IRa’+b>=5ab @ —+—$r:nrrr:

a)32 ab %)27 /232 d)z-za
b

o & (B
+t—=5 b

#b o B3

Qb

— + <=

b a 2

AX




2 1 .
a7, if 2x + S = 3, then the value of x3 + 3 +2is

317|T2x+§=3%a’r+2a~'rm?r:

a)—g/ b)—% A d) 11




193. If4a——+3 = 0, then the value of a3 ——+3 =7
4
IR 4a—;+ﬁ/=_93% ar 31—?

-_ _ -
Q ‘:_é R_"_q 1_’3

-1

= —&l- l“l\'l-l-\ol;? k8
8Y Y




194. Ifx(3 — Z) = 3, then the value of x2 + izis
X X X




1_3 3, 1 _,
200. Ifx +~ —12th:n8x toa —.1
R+ L =2 @ 8 + L=
/z)'18 b) 36 ) 24 d) 16

! =2 !
t?x. @1)\%@_133

A= 1e




20|, Ifx +— = 3, then the value of 16x3 + Seea3 ISt

uﬁx+——)§va’r 16x3 +256 - a»'r:m?ravrr:
4;fh23 b) 441 c) 432 d) 414

16 L2 422
,éﬁ’v(?”r_’_- 1128 -36=1642-
X 6}{/\" e




202. If 2p + % = 4, then the value of p3 + 8—;3 =7
1_ 3, 1 5
| 2p+p—49%a‘rp+8p3_.

%) 4 A5 c)?z d) 15

Pr L -2 PY+ L = g
2 Oy o7
-5

a®sb> (a+b55-2mb(q+b)

|



203, 1f 4b% + b—lz = 2, then the value of 8b3 + b—13 =7

2,1 _ 3,1 _
ax 3! I 4b% +5 =2 § A 8B + 5 =7
b)1 c)2 d)-4

@b)*r_?w = 2¢Y C'b)+b 3241 T
Rb{—fr ) =0 /k

D



261 3% +— = 6, then 8x> + —— =7
;g:j'ﬁf{'Bx+zi=6 ar 8x3 + 1x3=?
24176 56 ﬁsz d) 72

@ L= iy
% +@93 6‘4/3’&/(37}'(9
=56




265. If x16 + — = 2/10 then find the value of x*8 — -
X X

aﬁx16+X%=2\/E %a’rx‘“*—x% HT AT AT
I | l
a) 216 b) 198Yjp-Y /fz34 d) 110

X ——'_: 6 &'A
LS +18




241 721
206. If +—7thn +_?

Elﬁ 24+1 7%_ (__n_x72+1$rm%.

a)364 /5’322 \ c) 352 d) 358
LS

—_— +—_- 36, |
12 llz o+ _ o 3({%
-KI'Z.
3x




207 ft2 —4t+1 =0, thent3+i=
IR t2—4t+1=0 %a’rt3+_=

a)aa + b)76 ":/)’52[ d) 64

l —
h_t_ K 6Y

-2
S2L_

UTET 2019



1
20%. Ifa2—4a—1=0,thena2++3a— =?

a H

N a’?—4a-1=0% a’r 3a -2 =7
a2s 30 j

& ¢)35 d) 40
) +3<a—i
‘ /
I8 +12.=30




2 _ g 1 2, 1Y...
205 Ifx —3x+1—O,thenthevalueon(x +F) -5 (x +§)|s.
gfe x2-3x+1=0 %’,?—ﬂ'Z(x8+x—18)—5 (x2+xl2)il-7rﬂ1?-l'3l1?l'aﬁ'l
a) 3479 l-:—z. 4379 c) 4370 d) 4279

WM -25=y279

z+l -3
0 &
2
+1
X e 7
X\."\'l -_‘4an-_\17
M

R’ T34
XJ'T,\‘{‘\“ A= 2304 - 2= 9,7

_ SSC CHSL 2020




210. If 8x% + 9x + 8 = 0, then the value of x3 + %
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